Bid #OPN2128344B1 - Crowd Control Stanchions and Accessories

Creation Date May 8, 2024

Start Date Jun 20, 2024 8:26:41 AM EDT

End Date Aug 7, 2024 2:00:00 PM EDT

Awarded Date Not Yet Awarded

OPN2128344B101-01 Stanchion Outdoor						
Supplier		nit Price		Total Price	Attch.	Docs
LAVI	First Offer	- \$61.70	30 / each	\$1,851.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes: Deli Warranty Offered: 5		lech.	
OES Global Inc	First Offer	- \$71.25	30 / each	\$2,137.50		Y
Product Code: Agency Notes:			Supplier Notes: Deli Warranty Offered: 1 Stanchion Outdoor: E	o de: SAFE-BA90-TU96- i very (Days) : 1-2 busin 10 years Black or Dark/Navy Blu ecycle rust/crush proo	ness days Je post with	10ft-15ft
Tensator Inc.	First Offer -	\$114.00	30 / each	\$3,420.00	Y	Y
Product Code: Agency Notes:			Tensabarrier $\tilde{A}f\hat{A}$, \tilde{A} , \tilde{A} safety applications. So visitors to see potent Able to be assembled	i very (Days) : 30	ideal for he w both staff / harm is ca ease, the r	^r and used. etractable
Visiontron Corp.	First Offer -	\$118.06	30 / each	\$3,541.80	Y	Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes: Deli Warranty Offered: 1 Black Stanchion with	ivery (Days): 15	olack belt.	

		OPN2128344E	
First Offer - \$138.90	30 / each	\$4,167.00	Y
	Supplier Notes: Del	i very (Days) : 2/4 WEEKS	5
First Offer - \$202.31	30 / each	\$6,069.30	Y
	Supplier Notes: Del Warranty Offered:	i very (Days) : 7 - 15 days 30 day	Be l t Visiontron
	County Commission First Offer - \$138.90	First Offer - \$202.31 30 / each Supplier Product Cc Supplier Notes: Deli Warranty Offered: 7 10 FEET First Offer - \$202.31 30 / each Supplier Product Cc Supplier Product Cc Warranty Offered: 3 Supplier Product Cc Supplier Notes: Deli Warranty Offered: 3	County Commissioners

OPN2128344B101-02 Stanchion Indoor white on d	ark blue				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Tensator Inc.	First Offer - \$99.00	300 / each	\$29,700.00	Y	Y
Product Code: Agency Notes:		de: 889U very (Days): 30 ? Years his post provides a pro lkes for an eye-pleasin eatures the lowest lead ects are able to roll ov gaccessibility for all. Fr	ig addition ding edge ir er without	for your n the	
LAVI	First Offer - \$112.20	300 / each	\$33,660.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli Warranty Offered: 5		lech.	
OES Global Inc	First Offer - \$112.65	300 / each	\$33,795.00		Y
Product Code: Agency Notes:		Supplier Notes: Deli Warranty Offered: 1 Stanchion Indoor / Cu	de: PROBA12-TU12-W very (Days): 1-2 busir 0 years ustom Webbing (logo, less, 10 ft custom web	ness days white on c	
Visiontron Corp.	First Offer - \$160.33	300 / each	\$48,099.00	Y	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli			

	Broward County Board of County Commissioners			OPN2128344B		
			0 Year chion with dark blue pri printed white on dark l			
EVERYTRADE INTERNATIONAL COMPANY Product Code: Agency Notes:	First Offer -		300 / each Supplier Product Co Supplier Notes: Deli Warranty Offered: 1 10 FEET	very (Days): 2/4 WEEKS	<u></u> 5	
The Tools Man, Inc. Product Code: Agency Notes:	First Offer - :		Supplier Notes: Deli Warranty Offered: 3 Stanchion, Indoor Uti		Retractable Be l t	

OPN2128344B1–01-03 Replacement Head with Belt for Line Item No. 1								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
LAVI	First Offer - \$20.90	30 / each	\$627.00		Y			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli Warranty Offered: 3	very (Days) : 15					
OES Global Inc	First Offer - \$39.00	30 / each	\$1,170.00		Y			
Product Code: Agency Notes:		Supplier Notes: Deli Warranty Offered: 1	ement Cassette Head (ess days	n 1) with			

Broward County Board of County Commissioners						
First Offer - \$40.00	30 / each	\$1,200.00	Y Y			
1	Supplier Product Co Supplier Notes: Deliv	de: ADV144 /ery (Days) : 30				
First Offer - \$49.69	30 / each	\$1,490.70	Y Y			
	Supplier Product Code: 229-10 Supplier Notes: Delivery (Days): 15 Warranty Offered: 10 year Belt Assembly: Price includes solid black belt (no print					
First Offer - \$58.45	30 / each	\$1 753 50	Y			
	Supplier Product Code: 229-10 Supplier Notes: Delivery (Days): 2/4 WEEKS Warranty Offered: 1 YEAR					
First Offer - \$67.08	30 / each	\$2,012.40	Y			
	Supplier Notes: Deliv Warranty Offered: 3 Replacement Head wi	/ery (Days) : 7 - 15 days 0 day th Be l t for Line l tem No	o. 1 (Outdoor			
	County Commission	County Commissioners First Offer - \$40.00 30 / each Supplier Product Cod Supplier Notes: Deliv Warranty Offered: 2 First Offer - \$49.69 30 / each Supplier Product Cod Supplier Notes: Deliv Warranty Offered: 10 Belt Assembly: Price in Belt Assembly: Price in First Offer - \$58.45 30 / each Supplier Product Cod Supplier Notes: Deliv Warranty Offered: 10 Belt Assembly: Price in Belt Assembly: Price in Supplier Notes: Deliv Warranty Offered: 10 Belt Assembly: Price in Supplier Notes: Deliv Warranty Offered: 10 Supplier Notes: Deliv Warranty Offered: 1 First Offer - \$67.08 30 / each Supplier Notes: Deliv Warranty Offered: 30 Replacement Head wid	First Offer - \$40.00 30 / each \$1,200.00 Supplier Product Code: ADV144 Supplier Notes: Delivery (Days): 30 First Offer - \$49.69 30 / each \$1,490.70 Supplier Product Code: 229-10 Supplier Notes: Delivery (Days): 15 Warranty Offered: 10 year Belt Assembly: Price includes solid black belt First Offer - \$58.45 30 / each \$1,753.50 Supplier Product Code: 229-10 Supplier Notes: Delivery (Days): 2/4 WEEKS Warranty Offered: 10 year Supplier Notes: Delivery (Days): 2/4 WEEKS			

OPN2128344B1–01-04 Replacement Head with Belt for Line Item 2 white on dark blue										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
LAVI	First Offer - \$23.10	150 / each	\$3,465.00		Y					
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli Warranty Offered: 3	very (Days) : 15							
Tensator Inc.	First Offer - \$40.00	150 / each	\$6,000.00	Y	Y					

Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Del Warranty Offered: 2	ivery (Days) : 30		
OES Global Inc	First Offer - \$49.20	150 / each	\$7,380.00		Y
Product Code: Agency Notes:	<u>, , , , , , , , , , , , , , , , , , , </u>	Supplier Notes: Del Warranty Offered: Indoor Post Replacer	ode: PRO-WB10XX-ED1 ivery (Days): 1-2 busir 10 years nent Cassette (for Line vhite on dark blue 10 f	ness days e item 2) wit	h custom
Visiontron Corp.	First Offer - \$62.94	150 / each	\$9,441.00	Y	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Del Warranty Offered: ' Belt Assembly Price includes printee on dark blue belt, 2 s	ivery (Days) : 21 10 year d be l t. Broward Count <u>y</u>	y l ogo printe	ed white
EVERYTRADE INTERNATIONAL COMPANY	First Offer - \$74.04	150 / each	\$11,106.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Del Warranty Offered:	ivery (Days) : 2/4 WEEI	<s< td=""><td></td></s<>	
The Tools Man, Inc.	First Offer - \$84.97	150 / each	\$12,745.50		Y
Product Code: Agency Notes:		Supplier Notes: Del Warranty Offered: Replacement Head v		No. 2 (I ndoc	

OPN2128344B101-05 Broward County Logo Belt S	et Up				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
OES Global Inc	First Offer - \$0.00	1 / each	\$0.00		Y
Product Code: Agency Notes:		Supplier Notes: Wai	de: Custom Webbing rranty Offered: 10 yea ward County Logo on	ars	0

LAVI	First Offer - \$0.01	1 / each	\$0.01	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: War		
Tensator Inc.	First Offer - \$56.00	1 / each	\$56.00	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: War	de: Set-up Charge rranty Offered: 3 Years	
Visiontron Corp.	First Offer - \$66.25	1 / each	\$66.25	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: War		
The Tools Man, Inc.	First Offer - \$66.25	1 / each	\$66.25	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: War PRINTING SETUP FEE	ranty Offered: 30 day	
EVERYTRADE INTERNATIONAL COMPANY	First Offer - \$77.94	1 / each	\$77.94	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: War	de: PSU-1C rranty Offered: 1 YEAR	

	tdoor Stanchions)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
OES Global Inc	First Offer - \$47.25	25 / each	\$1,181.25		Y
Product Code: Agency Notes:		Warranty Offered: 1 ESF1114-TU10-H (Lan 14, portrait and lands	very (Days) : 1-2 busin 0 years idscape)Outdoor Sign icape	Frames, B l a	
Tensator Inc.	First Offer - \$51.00	25 / each	\$1,275.00	Y	Y
Product Code: Agency Notes:		Adapter Supplier Notes: Deli Warranty Offered: 2		y Sign Fram	ie and
LAVI	First Offer - \$60.60	25 / each	\$1,515.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli Warranty Offered: 2	very (Days) : 15		

				OPI	N2128344B			
F	First Offer -	\$73.94	25 / each		\$1,848.50	Y		Y
-			Supplier Notes: Deli Warranty Offered: 1 11"w x 14"h black sigr	very (D year n ho l der	ays) : 15 ^r with b l ack adap		ne.	
	Tirst Offer	¢96.09	25 (aash		¢2 174 E0			Y
<u> </u>		400.90	Supplier Product Co Supplier Notes: Deli	very (D	114DSSBSB-CSB			T
F	First Offer -	\$99.82	25 / each		\$2,495.50			Y
			Supplier Notes: Deli Warranty Offered: 3 Sign Frames for Item	very (D 80 days No. 1 (C	ays) : 7 - 15 days		rtrait	and
		County Cor First Offer -	County Commission	First Offer - \$86.98 25 / each First Offer - \$99.82 25 / each First Offer - \$99.82 25 / each Supplier Notes: Deli Warranty Offered: 1 First Offer - \$99.82 25 / each Supplier Notes: Deli Warranty Offered: 2 First Offer - \$99.82 25 / each Supplier Notes: Deli Warranty Offered: 3 Supplier Notes: Deli Warranty Offered: 3 Supplier Notes: Deli Warranty Offered: 3 Sign Frames for Item Sign Frames for Item	County Commissioners First Offer - \$73.94 25 / each Supplier Product Code: FR1 Supplier Notes: Delivery (D) Warranty Offered: 1 year 11"w x 14"h black sign holder Horizontal sign holder is the sign holder Horizontal sign holder is the sign First Offer - \$86.98 25 / each Supplier Product Code: FR1 Supplier Product Code: FR1 Supplier Notes: Delivery (D) Warranty Offered: 1 YEAR First Offer - \$99.82 25 / each First Offer - \$99.82 25 / each First Offer - \$99.82 25 / each	County Commissioners First Offer - \$73.94 25 / each \$1,848.50 Supplier Product Code: FR1114DSSBSB-CSB Supplier Notes: Delivery (Days): 15 Warranty Offered: 1 year 11"w x 14"h black sign holder with black adap Horizontal sign holder is the same price Horizontal sign holder is the same price First Offer - \$86.98 25 / each \$25 / each \$2,174.50 Supplier Product Code: FR1114DSSBSB-CSB Supplier Product Code: FR1114DSSBSB-CSB Supplier Notes: Delivery (Days): 2/4 WEEKS Warranty Offered: 1 YEAR First Offer - \$99.82 25 / each \$2,495.50 \$upplier Product Code: FR1114DSSBSB-CSB Supplier Notes: Delivery (Days): 2/4 WEEKS Warranty Offered: 1 YEAR	County Commissioners First Offer - \$73.94 25 / each \$1,848.50 Y Supplier Product Code: FR1114DSSBSB-CSB Supplier Notes: Delivery (Days): 15 Warranty Offered: 1 year 11"w x 14"h black sign holder with black adapter cor Horizontal sign holder is the same price Horizontal sign holder is the same price First Offer - \$86.98 25 / each \$2,174.50 Supplier Product Code: FR1114DSSBSB-CSB Supplier Product Code: FR1114DSSBSB-CSB Supplier Notes: Delivery (Days): 2/4 WEEKS Warranty Offered: 1 YEAR First Offer - \$99.82 25 / each \$2,495.50 First Offer - \$99.82 25 / each \$2,495.50 Supplier Product Code: FR1114DSSBSB-CSB Supplier Notes: Delivery (Days): 7-15 days Warranty Offered: 30 days Sign Frames for Item No. 1 (Outdoor Stanchions) Po	County Commissioners First Offer - \$73.94 25 / each \$1,848.50 Y Supplier Product Code: FR1114DSSBSB-CSB Supplier Notes: Delivery (Days): 15 Warranty Offered: 1 year 11"w x 14"h black sign holder with black adapter cone. Horizontal sign holder is the same price Horizontal sign holder is the same price First Offer - \$86.98 25 / each \$2,174.50 Supplier Product Code: FR1114DSSBSB-CSB Supplier Notes: Delivery (Days): 2/4 WEEKS Warranty Offered: 1 YEAR First Offer - \$99.82 25 / each \$2,495.50 Supplier Product Code: FR1114DSSBSB-CSB Supplier Product Code: FR1114DSSBSB-CSB Supplier Notes: Delivery (Days): 2/4 WEEKS Warranty Offered: 1 YEAR First Offer - \$99.82 25 / each \$2,495.50 Supplier Product Code: FR1114DSSBSB-CSB Supplier Product Code: FR1114DSSBSB-CSB Supplier Notes: Delivery (Days): 7.15 days Warranty Offered: 30 days Sign Frames for Item No. 1 (Outdoor Stanchions) Portrait J

OPN2128344B101-07 Sign Frames for Item No. 2 (I	Ind	oor Stanchions)				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
OES Global Inc		First Offer - \$50.20	150 / each	\$7,530.00		Y
Product Code:			Supplier Product Co	de: ESF1114-TU12-V		
Agency Notes:				very (Days): 1-2 busin	ess days	
			Warranty Offered: 1	0 years		
			ESF1114-TU12-H (Lar	ndscape) Indoor Sign F	rames, Satii	n Stainless
			11 x 14, portrait and	andscape		

Broward County Board of County Commissioners

First Offer - \$51.00	150 / each	\$7,650.00	Y	Y
	Adapte Supplier Notes: Deli	very (Days): 30	' Sign Fram	e and
First Offer - \$60.60	150 / each	\$9,090.00		Y
	Supplier Notes: Deli	very (Days): 15		
First Offer - \$73.94		\$11,091.00	Y	Y
	Supplier Notes: Deli Warranty Offered: 1 11"w x 14"h polished	very (Days) : 21 year a l uminum sign ho l der	with b l ack	adapter
First Offer - \$86.98	150 / each	\$13,047.00		Y
	Supplier Notes: Deli	very (Days): 2/4 WEEK		
First Offer - \$99.82	150 / each	\$14,973.00		Y
	Supplier Notes: Deli Warranty Offered: 3 Sign Frames for Item	very (Days) : 7 - 15 30 day No. 2 (I ndoor Stanchio		
	First Offer - \$86.98	Supplier Product Co Adapte Supplier Notes: Deli Warranty Offered: 2 First Offer - \$60.60 150 / each Supplier Product Co Supplier Notes: Deli Warranty Offered: 2 First Offer - \$73.94 150 / each Supplier Product Co Supplier Notes: Deli Warranty Offered: 1 11"w x 14"h polished cone. Horizontal sign First Offer - \$86.98 150 / each Supplier Product Co Supplier Notes: Deli Warranty Offered: 1 11"w x 14"h polished cone. Horizontal sign First Offer - \$86.98 150 / each Supplier Product Co Supplier Notes: Deli Warranty Offered: 1 First Offer - \$99.82 150 / each Supplier Notes: Deli Warranty Offered: 1 Sign Frames for Item	Supplier Product Code: 11 x 14 Heavy Duty Adapte Supplier Notes: Delivery (Days): 30 Warranty Offered: 2 Years First Offer - \$60.60 150 / each \$9,090.00 Supplier Product Code: Supplier Notes: Delivery (Days): 15 Warranty Offered: 2 years First Offer - \$73.94 150 / each \$11,091.00 Supplier Product Code: FR1114DSPCPC-CS Supplier Notes: Delivery (Days): 21 Warranty Offered: 1 year 11"w x 14"h polished aluminum sign holder cone. Horizontal sign holder is the same prior First Offer - \$86.98 150 / each \$13,047.00 Supplier Product Code: FR1114DSPCPC-CS Supplier Notes: Delivery (Days): 2/4 WEEK Warranty Offered: 1 YEAR First Offer - \$99.82 150 / each \$13,047.00 Supplier Product Code: FR1114DSPCPC-CS Supplier Notes: Delivery (Days): 2/4 WEEK Warranty Offered: 1 YEAR \$14,973.00	Supplier Product Code: 11 x 14 Heavy Duty Sign Fram Adapte Supplier Notes: Delivery (Days): 30 Warranty Offered: 2 Years First Offer - \$60.60 150 / each Supplier Product Code: Supplier Notes: Delivery (Days): 15 Warranty Offered: 2 years First Offer - \$73.94 150 / each Supplier Product Code: \$11,091.00 Y Supplier Notes: Delivery (Days): 21 Warranty Offered: 1 year 11"w x 14"h polished aluminum sign holder with black cone. Horizontal sign holder is the same price 11"w x 14"h polished aluminum sign holder with black cone. Horizontal sign holder is the same price Supplier Product Code: FR1114DSPCPC-CSB Supplier Notes: Delivery (Days): 2/4 WEEKS Warranty Offered: 1 YEAR First Offer - \$99.82 150 / each \$150 / each \$14,973.00 Supplier Product Code: FR1114DSPCPC-CSB/HORIZO Supplier Notes: Delivery (Days): 7.15 Warranty Offered: 30 day Sign Frames for Item No. 2 (Indoor Stanchions) Portrait

OPN2128344B1--01-08 Heavy Duty Q-Panel System - 48" x 34" h - 1/4" Frosted Acrylic

	County Co	JIIIIIISSIOII	eis				
Supplier	L	Jnit Price	Qty/Unit	Total Price	Attch.		Docs
Tensator Inc.	First Offer -	\$234.00	90 / each	\$21,060.00	Y		Y
Product Code: Agency Notes:			Supplier Product Code: INQ-PANEL-AAN-15385 Supplier Notes: Delivery (Days): 30 Warranty Offered: 2 Years				
OES Global Inc	First Offer -	\$260.00	90 / each	\$23,400.00			Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes: Deli Warranty Offered: 7 Satin Aluminum	ode: MODP3448-TU12 ivery (Days): 1-2 busin	-	ſ	
LAVI	First Offer -	\$293.20	90 / each	\$26,388.00			Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes: Del Warranty Offered: 2	ode: ivery (Days): 15			-
Visiontron Corp.	First Offer -	\$306.87	90 / each	\$27,618.30	Y		Y
Product Code: Agency Notes:			frosted acrylic insert.	ivery (Days) : 21 l year uty panel with satin alu Note this panel requir support. Posts are solo	es receive	rpo	osts,
EVERYTRADE INTERNATIONAL COMPANY	First Offer -	\$361.00	90 / each	\$32,490.00			Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes: Del Warranty Offered: 7	ivery (Days) : 2/4 WEE	٢S		
I						I	

	Broward County Boa County Commissior			OPN2128344B
The Tools Man, Inc.	 First Offer - \$414.27	90 / each	\$37,284.30	Y
Product Code:		Supplier Product Co	de: PNL4834SA-FA	
Agency Notes:		Supplier Notes: Deli	i very (Days) : 7 - 15	
		Warranty Offered: 3	30 day	
		Heavy Duty Q-Panel	System - 48" x 34" h - 1/4	I" Frosted Acrylic -
		Satin Aluminum Fran	ne. Visiontron	

OPN2128344B1–01-09 Heavy Duty Q-Panel System -	72`" x 34" h -1/4" Froste	ed Acrylic			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
LAVI	First Offer - \$374.00	75 / each	\$28,050.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Del Warranty Offered: 2	ivery (Days) : 15		
Tensator Inc.	First Offer - \$385.00	75 / each	\$28,875.00	Y	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Del Warranty Offered: 7		14982	
OES Global Inc	First Offer - \$435.00	75 / each	\$32,625.00		Y
Product Code: Agency Notes:		Supplier Notes: Del Warranty Offered: Satin Aluminum	ode: MODP3472-TU12 ivery (Days): 1-2 busir 10 years System- 72 x 34 x 1/4 F	ness days	ylic
Visiontron Corp.	First Offer - \$505.62	75 / each	\$37,921.50	Y	Y
Product Code: Agency Notes:		frosted acrylic insert.	ivery (Days) : 21 1 Year uty panel with satin a l u Note this panel requii support. Posts are so l	res receiver	r posts,
EVERYTRADE INTERNATIONAL COMPANY	First Offer - \$594.85	75 / each	\$44,613.75		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Del Warranty Offered:	ivery (Days): 2/4 WEE	KS	
The Tools Man, Inc.	First Offer - \$682.59	75 / each	\$51,194.25		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Del	ode: PNL7234SA-FA ivery (Days): 7-15 day	S	

Warranty Offered: 30 days

Heavy Duty Q-Panel System - 72[°] x 34" h -1/4" Frosted Acrylic -Satin Aluminum Frame. Visiontron

OPN2128344B1–01-10 Stickers, Post with Brow	ard Col					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
LAVI		First Offer - \$0.01	1500 / each	\$15.00		Y
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Delivery (Days): 15 Warranty Offered: 2 years			
OES Global Inc		First Offer - \$1.50	1500 / each	\$2,250.00		Y
Product Code: Agency Notes:			Supplier Product Code: Custom Post Top Stickers Supplier Notes: Delivery (Days): 1-2 Warranty Offered: 10 years Custom Post Top Broward County Logo Stickers			
Visiontron Corp.		First Offer - \$1.82	1500 / each	\$2,730.00		Y
Product Code: Agency Notes:			Supplier Product Co Supplier Notes: Deli Warranty Offered: 1 6 color Label for Retra	very (Days) : 28 year		
EVERYTRADE INTERNATIONAL COMPANY		First Offer - \$2.14	1500 / each	\$3,210.00		Y
Product Code:			Supplier Product Co			<u></u>
Agency Notes:				very (Days): 3/4 WEEK	S	

		Warranty Offered: 1 YEAR				
The Tools Man, Inc.	First Offer - \$2.46	1500 / each	\$3,690.00		Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli Warranty Offered: 3 Stickers, Post with Bro per 7.1.3 in the Specif	very (Days) : 7 - 15 days 0 days oward County Logo *I r	ncludes 6 co		
Tensator Inc.	First Offer - \$3.56	1500 / each	\$5,340.00		Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli Warranty Offered: 2	very (Days): 30			

OPN2128344B1–01-11 Broward County Logo Sticker Set Up (One Time Cost)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Tensator Inc.	First Offer - \$0.00	1 / each	\$0.00		Y			
Product Code:		Supplier Product Co	de: Not App l icab l e					
Agency Notes:		Supplier Notes:						
OES Global Inc	First Offer - \$0.00	1 / each	\$0.00		Y			
Product Code: Agency Notes:			de: Set-up Cost- Sticke /e Set Up Fees for Bro		ty Logo			
LAVI	First Offer - \$0.01	1 / each	\$0.01		Y			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:					
Visiontron Corp.	First Offer - \$100.00	1 / each	\$100.00		Y			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Post						
EVERYTRADE INTERNATIONAL COMPANY	First Offer - \$100.00	1 / each	\$100.00		Y			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ae: SET UP					
The Tools Man, Inc.	First Offer - \$135.00	1 / each	\$135.00		Y			

Product Code:	
Agency Notes:	

Supplier Product Code: PSU-1C

Supplier Notes: Broward County Logo Sticker (Artwork) Set Up (One Time Cost)

OPN2128344B1-01-12 Crate for Shipping for Acrylic	Panels 48" x 34" (6 per o	crate)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
LAVI	First Offer - \$0.01	15 / each	\$0.15		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Delivery (Days): 15				
Visiontron Corp.	First Offer - \$112.63	15 / each	\$1,689.45		Y	
Product Code: Agency Notes:		3 15 / each \$1,689.45 Supplier Product Code: WC2 Supplier Notes: Delivery (Days): 21 Wooden Crate for shipping 48" x 34" panels				
OES Global Inc	First Offer - \$125.00	15 / each	\$1,875.00		Y	
Agency Notes:		Crate- Pallet for Shipp -Panels stored in Ft La	i very (Days) : 1-2 Busir bing 48"x34" Panels auderdale- Pompano I ES Global Company tru	Beach ware		
EVERYTRADE INTERNATIONAL COMPANY	First Offer - \$132.50	15 / each	\$1,987.50		Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli	ode: WC2 ivery (Days): 3/4 WEEF	۲S		
The Tools Man, Inc.	First Offer - \$152.05	15 / each	\$2,280.75		Y	
Product Code: Agency Notes:		Supplier Notes: Deli	de: CRATING CHARGE i very (Days) : 7-15 day: r Acrylic Panels 48'' x 3-	s	ate).	
Tensator Inc.	First Offer - \$546.00	15 / each	\$8,190.00		Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli				

OPN2128344B1-01-13 Crate for Shipping for Acrylic	Panels 72" x 34" (5 per o	crate)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
LAVI	First Offer - \$0.01	5 / each	\$0.05		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Delivery (Days): 15			
Visiontron Corp.	First Offer - \$152.38	5 / each	\$761.90		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Del Wooden Crate for sh		5	
EVERYTRADE INTERNATIONAL COMPANY	First Offer - \$179.27	5 / each	\$896.35		Y
Product Code: Agency Notes:		Supplier Product Code: WC3 Supplier Notes: Delivery (Days): 3/4 WEEKS			
The Tools Man, Inc.	First Offer - \$205.71	5 / each	\$1,028.55		Y
Product Code: Agency Notes:		Supplier Notes: Del	ode: CRATING CHARGE ivery (Days): 7-15 day: r Acrylic Panels 72'' x 3	S	ate).
OES Global Inc	First Offer - \$225.00	5 / each	\$1,125.00		Y
Product Code: Agency Notes:		Supplier Notes: Del Crate- Pallet for Ship -Panels stored in Ft L	ode: Crate- Pallet for Sh ivery (Days): 1-2 Busir ping 72"x34" Panels .auderdale- Pompano I IES Global Company tru	ness days 7 Beach ware	ehouse
Tensator Inc.	First Offer - \$546.00	5 / each	\$2,730.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Del			

OPN2128344B1–01-14 Discount from list/Catalog for Replacement Parts							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
OES Global Inc	First Offer - 50.00%	1 / l ump sum	50.00%		Y		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli Warranty Offered: 1 TCFL Discount - TCFL- Replacement Parts	very (Days) : 1 - 2 Busin 0 years	-			

.

Visiontron Corp.	First Offer - 40.00%	1 / l ump sum	40.00%		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deliv Warranty Offered: N Discount off List/Cata	very (Days) : NA IA	nent parts	
EVERYTRADE INTERNATIONAL COMPANY	First Offer - 40.00%	1 / l ump sum	40.00%		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli Warranty Offered: 1	very (Days) : 3/4 WEE	Ś	
Tensator Inc.	First Offer - 40.00%	1 / lump sum	40.00%		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli Warranty Offered: 2	very (Days): 30		
LAVI	First Offer - 35.00%	1 / l ump sum	35.00%		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli Warranty Offered: N	very (Days): 15		
The Tools Man, Inc.	First Offer - 20.00%	1 / l ump sum	20.00%		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli Warranty Offered: 3			S

OPN2128344B1–01-15 Tall Privacy Q-Panel System - 48" x 66" h - 1/4"							
Supplier	Unit Price	Unit Price Qty/Unit Total Price Attch. Do					
Tensator Inc.	First Offer - \$385.00	15 / each	\$5,775.00	Y	Y		
Agency Notes: S		Supplier Product Code: INQ-PANEL-AAN-4FT-66 Supplier Notes: Delivery (Days): 30 Warranty Offered: 2 Years					
LAVI	First Offer - \$396.00	15 / each	\$5,940.00		Y		
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Delivery (Days): 15 Warranty Offered: 2 years						
OES Global Inc	First Offer - \$444.00	15 / each	\$6,660.00		Y		
Product Code: Supplier Product Code: MODP4866-TU12 Agency Notes: Supplier Notes: Delivery (Days): 1-2 business days Warranty Offered: 10 years Tall Privacy Q-Panel System- 48 x 66 Frosted Acrylic							

Visiontron Corp.	First Offer - \$522.32	15 / each	\$7,834.80	Y	Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli Warranty Offered: 1 48"w x 66"h heavy du	ivery (Days): 21	osted acrylic	: insert
EVERYTRADE INTERNATIONAL COMPANY	First Offer - \$614.50	15 / each	\$9,217.50		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli Warranty Offered: 1	ivery (Days): 3/4 WEE	KS	
The Tools Man, Inc.	First Offer - \$705.13	15 / each	\$10,576.95		Y
Product Code: Agency Notes:		Warranty Offered: 3 Tall Privacy Q-Panel S	i very (Days) : 7 - 15 day	/4" Satin A l	uminum

OPN2128344B1–01-16 Satin Aluminum Receiver Post, accepts tall queue panels						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
OES Global Inc	First Offer - \$131.00	30 / each	\$3,930.00		Y	
Product Code: Agency Notes:		Supplier Notes: Deli Warranty Offered: 1 Satin Aluminum 72'' F	Receiver Post, accepts	iess days		
LAVI	First Offer - \$174.60	30 / each	\$5,238.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Delivery (Days): 15 Warranty Offered: 2 years				
Tensator Inc.	First Offer - \$198.00	30 / each	\$5,940.00	Y	Y	
Product Code: Agency Notes:		Supplier Product Code: 889T2U Supplier Notes: Delivery (Days): 30 Warranty Offered: 2 Years				
Visiontron Corp.	First Offer - \$230.40	30 / each	\$6,912.00	Y	Y	
Product Code:		Supplier Product Code: 360SASS-RCV/SUB-360TC				

	Broward County Boa County Commission			C	DPN2128344B1
Agency Notes:		Supplier Notes: Deli Warranty Offered: 1 72" tall satin aluminu		8'W x 66"h	panels
EVERYTRADE INTERNATIONAL COMPANY	First Offer - \$271.05	30 / each	\$8,131.50		Y
Product Code: Agency Notes:			de: 360SASS-RCV + SU very (Days) : 3/4 WEEI YEAR		
The Tools Man, Inc. Product Code: Agency Notes:	First Offer - \$311.04	Supplier Notes: Deli Warranty Offered: 3	\$9,331.20 de: 360SASS-RCV/W F very (Days) : 7-15 day 30 days eiver Post 72" Tall , acc	S	

OPN2128344B1–01-17 Crate for Shipping for Acrylic Panels 48" x 66" (5 per crate)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
LAVI	First Offer - \$0.01	3 / each	\$0.03		Y		
Product Code:		Supplier Product Co					
Agency Notes:		Supplier Notes: Deli	very (Days) : 15				
Visiontron Corp.	First Offer - \$152.38	3 / each	\$457.14		Y		
Product Code:		Supplier Product Co					
Agency Notes:		Supplier Notes: Deli					
		wooden crate for shi	pping 48" x 66" panels	i			
OES Global Inc	First Offer - \$175.00	3 / each	\$525.00		Y		
Product Code:			de: Crate-Pallet for Sh		66		
Agency Notes:			very (Days): 1-2 busir	iess days			
		Crate-Pallet for Shipp		loach ward	houso		
		Panels stored in Ft Lauderdale- Pompano Beach warehouse and delivered with OES Global Company truck with custom					
		crate-pallets			50011		

Broward County Board of County Commissioners

	•				
EVERYTRADE INTERNATIONAL COMPANY	First Offer - \$179.27	3 / each	\$537.81		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli	de: WC3 very (Days) : 3/4 WEE	KS	
The Tools Man, Inc.	First Offer - \$205.71	3 / each	\$617.13		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli Crate for Shipping for	i very (Days) : 30 days		ate).
Tensator Inc.	First Offer - \$546.00	3 / each	\$1,638.00		Y
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Deli			

OPN2128344B1–01-18 Stanchion, Indoor U	tility				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Visiontron Corp.	First Offer - \$131.31	167 / each	\$21,928.77		Y
Product Code: Agency Notes:		Supplier Product Code: 302BA-DB Supplier Notes: Delivery (Days): 21 Warranty Offered: 10 YEAR Black aluminum Indoor utility stanchion with rubber base and da blue printed belt,Broward County logo printed white on dark blu 2 sides			
OES Global Inc	First Offer - \$139.00	167 / each	\$23,213.00		Y
Product Code: Agency Notes:		Supplier Notes: Delive Warranty Offered: 10 Stanchion, Indoor Utility	:: PROBA12-TU12-DWB1 ry (Days) : 1-2 business o years /, Satin Stainless Dual-Lir ark Blue 10 ft Belt webbi	days ne with FLL E	
The Tools Man, Inc.	First Offer - \$185.00	167 / each	\$30,895.00		Y
Product Code: Agency Notes:		Supplier Product Code Supplier Notes: Delive Warranty Offered: 30	ry (Days) : 7 - 15 days		

Supplier Totals

f OES Global Inc	\$148,796.75 (18/18 items)	
Bid Contact Jennifer Davenport jennifer@oesglobalinc.com Ph 888-388-0180	Address 3590 NW 54th Street Ste 9 Fort Lauderdale, FL 33309	
Agency Notes:	Supplier Notes:	Head Attch:
Bid Allowance		\$1,000.00

		Broward County Board of County Commissioners	OPN2128
f Visiontron C	Corp.	\$183,532.11 (18/18 iten	ıs)
D	onna Goroshko onnag@visiontron.com h 631-582-8600	Address 925 Waverly Ave Holtsville, NY 11742	
Agency Notes	:	Supplier Notes:	Head Attch:
Bid Allowance			\$1,000.00
f The Tools M	an, Inc.	\$250,330.08 (18/18 item	s)
Bid Contact	Trina Gonzalez customercare@thetoolsman.com Ph 954-581-2546 Fax 954-495-9376	Address 5500 SW 48th ST Suite B Davie, FL 33314	
Supplier Code	VC0000110443		
Qualifications	CBE DBE MBE SB SBE SBE/CBE AP	PLICATION	
Agency Notes	:	Supplier Notes:	Head Attch:
Bid Allowance			\$1,000.00
EVERYTRADE	INTERNATIONAL COMPANY	\$190,096	5.35 (17/18 items
Bid Contact	JOSE DE LA RIVA AGUERO sales@everytradeinternational.com Ph 754-701-0148 Fax 754-701-8983	Address 5041 S. State Road 7 Davie, FL 33314	- Suite 420
Supplier Code	VC0000106925		
Agency Notes	:	Supplier Notes:	
Tensator Inc.		\$128,849).00 (17/18 items
	d Charik d.charik@tensator.com h 631-838-5789	Address 260 Spur Drive South Bay Shore, NY 11706	
Bid Notes A	ll items have been approved as equal.		
Agency Notes	:	Supplier Notes: All items have been approved as e	qual.
LAVI		\$115,839	9.25 (17/18 items
•	uan Baeza uanb@lavi.com h 661-378-4351	Address 27810 Avenue Hopkins Valencia, CA 91355	
Agency Notes		Supplier Notes:	

**